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Instrucltions:

() Al questions are compulsory. Internal options are given in Question
Nos. 05 to 20.

(i)  Marks of each question are indicated against it.

(i)  Answer question Nos. 05 to 08 in about 30 words each.

(iv) Answer question Nos. 09 to 12 in about 75 words each.

(v) Answer question Nos. 13 to 17 in about 120 words each.

(vl) Answer question Nos. 18 to 20 in about 150 words each.
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Choose the correct op:tions:-
(8)  Rusting of an article made up of iron is called.
(i) Corrosion and it's a physical as well as chemical changes.
(i)  Solution and it is a physical change.
(i)  Corrosion and it is a chemical change.

(iv)  Solution and it is a chemical change.

(b)  Chemical symbol of Nitrogen is -

(i) Ni
(i) N
(i) N*
vy N

(c) In SONAR we use-
(i) Ultrasonic waves
(i) Infrasonic waves
(i)  Radio waves

(iv) Audible sound waves

(d)  Which one of the following disease is not transmitted by mosquito.

(i) Dengue
()  Malaria
(i)  Brain fever
(ivy Pneumonia
(e) Cell theory was given by-
(i) Schieiden and Schwan

(i)  Robert Brown

(i) Hooke
(iv) Haeckel
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Fill in the blanks: :

(a) Wheat, Gram, Pea and Mustard are..............ccoooooinninniinnaiinn Crops. (Rabi/ Kharif)

(p) The Smallest particle Of AN BlEMENTLIS. .. ccvvevivrieeiriireieniesnsrmrerenasrinans (Atom / Molecules)

(¢) The unit of force in S.1 SYSIeM iS.......coooiiiiiiiniiii (Galileo / Newton)

(d) The fixed temperature at which the solid is converted in liquid state is called.............
(Boiling point/ Melting point)

(e) The gaseous covering around earthis called......................... (Atmosphere / Hydrosphere)

53 W& WS T (1x5=6)
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Match the column-

(A) : (B)

(i) lons (a) Chemical changes

(i)  Hydrogen () Nm?

(i)  Burning of candle (c) AIDS

(iv) Pressure (d) Dlatomic

V) Hv (6) Charged Particle
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(8) Wrfa #1 wwmafyes am fafeg
Write answer in one sentence:-
(a) Write the full name of CNG.
(b) Define matter.
(¢)  Write the formula for momentum.
(d) What is frequency?
(e)  Write the chemical name of Aerosol.
@

us WREIY] $HE goME @ aRefia S

Define the atomic mass Unit.
341 / OR

g araitge AR g FeRTge w1 A fafae
Write the formula of Sodium Oxide and Aluminium Chloride.
ue e fpvor @ | (@)

What are Canal rays?
3rydr / OR

AR 7 T B gl & farg geeRT faer R

Write electron distribution in Sodium and Carbon atoms.

a7 < ) st B A faRay R o srgaife et @

Write two organelles that contain their own genetic materlals.

3rar / OR
PR Rich #) aufers TR fireeh i FE B

Why ls the cell membrane called 2 selectively permeable membrane?
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Define work and write its S.| unit.

3Ydr / OR
e @1 87 39F1S. WS faRey |

What is power? Write its S.| Unit.

@

U9 HIT JWIT T 27 TP B9 I A <1 Al R %))

What is soil erosion? Write the method of reducing soil erosion.

3T / OR

M9 g9] wag Fa 27
What is the green house effect?

%10 A R TN 22 3P Q) wwra farfaw
What is sound pollution? Write its two effects.

1 / OR
N & forg ot @t aiferard @)

Why water is essential for life.
W11 919 AT F1 ARG g T80 |
Draw labelled diagram of Piant cel.
3*74ar / OR
g PR BT ARG o TRy

Draw labelled diagram of Animal cell.

()

®)

12 AEDIET B ST BT Al W e ¥ GHHET ) @)

Mitochondria is called power house of the cell. Explain.

JYar / OR
?ﬁmw‘tﬂmmﬁaﬁmﬁmﬁaml

«  Draw aneat and labelieq diagram of Nerve cell.
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s d argdef qent # AR sk fafav |
Write the four differences between transverse and longit
3edr / OR

AR & P Ay aen 2 swEnr faRag |
Write the working of SONAR and write its 2 applications.
IR & wRATY Aise P ARAT TN |
Describe Bohr's model of the atom.

3yar / OR
Fenfe Far &7 S | fafa )
What is Isotopes? Write with example.

WWWW??WWW%WI

What is mixed Fish culture? Write its advantages.
arEar / OR

At ¥ @re qur FARPT BT FAT T B 87
Why manures and fertilizers are used in fields?
Frder 3 qemr fafag |

Write the features of Chordata.

3rdi / OR

s df & @ RRae

Write the features of Angiosperms.

fardt avq @ FAWH a1 AR A AR IR fARag |
What are the four differences between
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3erqr / OR

TR FT qrafye fAaa fafeg |

Wrile the Universal law of gravitation.

M1 m¥or } 2R g ot AR sfar Rl (s)
Write the advantage and disadvantages of friction.

34T / OR

nfa & wem fFram ofee | 99 #1E 79 favmeer @ 7fada a1 & o amy 98 Y air
2 @ 27 «

Write the first law of motion. You fall backwards when a bus accelerates from rest. Why?

Ife f&ef! SR BT TAHH 1500 kg & O IHD 47T BT 30 km h' | 60 km h" TF qoTH B

EI/HQ
forg e srd ST g | | ®)
What is the work to be done to increase the velocity of a car from 30 km h™' to 60 km h' if mass of
the car is 1500kg?
311491 / OR
h ¥ W @ m gaam @ five 3 Rfas $9l &1 ave wnfla g |
Establish the formula for obtaining Potential energy of an object of mass ‘m’ situated at a height 'h’,
920 GHMS T e B A= fafdf e i @8 (5)

What are the different means by which Infectious disease are spread.

34T / OR

IS WY & Ay avad v fafay dur We P |

Write and explain necessary conditions for good health.

o
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